$$h(r) = 2\alpha_{s} \frac{d^{2}c_{12}}{d\alpha_{s}} = -6C_{\mp} \frac{\alpha_{s}}{4\pi}$$

$$-\nu \gamma_{m}^{(0)} = -6C_{\mp}$$

$$\mu \frac{dm}{d\mu} = \gamma_{m}^{(0)} \frac{\alpha_{s}}{4\pi}$$

$$m(r) = \int_{r_{0}} \frac{d\mu}{h} \frac{\alpha_{s}}{4\pi} \gamma_{m}^{(0)} = \int_{\sigma(\mu_{0})} \frac{d\alpha}{\mu} \frac{\chi_{0}}{\mu_{0}}$$

$$h(\mu_{0}) = -\chi_{m}^{(0)} \ln \left(\frac{\alpha(\mu)}{\alpha(\mu_{0})}\right)$$

$$- \mathbf{r} (\mathbf{r}) = \mathbf{r}(\mathbf{r}_{0}) \left(\frac{\mathbf{x}(\mathbf{r})}{\mathbf{x}(\mathbf{r}_{0})}\right)^{2}$$

2.)

 $\begin{array}{l} (\alpha, \beta) = \frac{d}{dlmp} \alpha_{s}^{(0)} = 0 = \frac{d}{dlmp} \frac{2^{2}}{2^{2}} p^{2^{2}} \alpha_{s}^{(p)} p^{2s} \\ \xrightarrow{2^{2}g} \frac{d}{dlmp} \frac{2^{2}}{2^{2}} p^{2s} \alpha_{s}^{(p)} p^{2s} \\ \xrightarrow{(\alpha, \beta)} (\frac{d}{dlmp} \frac{2^{2}}{2^{2}}) p^{2s} \alpha_{s}^{(p)} p^{2s} \\ \xrightarrow{(\alpha, \beta)} p^{2s} \frac{d}{dlmp} \frac{d}{ds} = 0 \end{array}$

$$-\sigma \frac{d\alpha_s}{dlup} = -2\varepsilon\alpha_s(p) - 2\alpha_s \frac{2}{2} \frac{d\omega_s}{dlup} = \beta(\alpha_s, \varepsilon)$$

Ь.)

$$(\mathbf{x}) \cdot \mathbf{z}_{g} = (\mathbf{S}(\mathbf{x}_{s}, \mathbf{\Sigma}) \mathbf{z}_{g} = -\mathbf{Z}\mathbf{\Sigma} \mathbf{z}_{g} \mathbf{x}_{s}$$

$$-\mathbf{Z} \mathbf{x}_{s} \frac{\partial \mathbf{z}_{g}}{\partial \mathbf{x}_{s}} (\mathbf{x}_{s}, \mathbf{\Sigma}) \quad (\mathbf{x}_{s})$$

$$= (\mathbf{Z} \mathbf{x}_{s} \frac{\partial \mathbf{z}_{g}}{\partial \mathbf{x}_{s}} (\mathbf{x}_{s}, \mathbf{\Sigma}) \quad (\mathbf{x}_{s})$$

$$= (\mathbf{Z} (\mathbf{x}_{s}) + \sum_{n=1}^{\infty} \mathbf{\Sigma}^{n} (\mathbf{x}_{s})$$

Take coefficient of
$$S^n$$
 - term in (**).
RHS only has terms up to $O(S)!$
-> Higher order terms in S must verify or LHS
-> $\beta_{NJ} = 0$ for $N > 1$.
The $O(S)$ - terms are:
 $\beta_{UJ} \cdot 1 \cdot S = -2S \cdot \alpha_S$
The $\partial(S^n) - terms$ are
 $(3(\alpha_S) + \beta_{UJ}(\alpha_S) \cdot \beta_{JUJ}) = -2\alpha_S \cdot \beta_{SUJ}$
 $-2\alpha_S \cdot \frac{\partial 2\alpha_S}{\partial \alpha_S} (-2\alpha_S)$

$$\beta(\alpha_s) = 4\alpha_s^2 \frac{\partial^2 z_{g(s)}}{\partial \alpha_s}$$
.

Now consider bare wilson coefficient, e.g. bare mess from exercise 1.

$$\frac{d}{dlup} n_q = 0 = \frac{d}{dlup} \left(\frac{2}{m} n(p) \right)$$

$$- \sigma \left(\frac{d}{d \ln \mu} Z_{m} \right) m(\mu) + Z_{m} \frac{d}{d \ln \mu} m(\mu) = 0$$

$$\int_{m}^{\infty} (\mu, \Sigma) m(\mu)$$



$$\gamma_m(\mu, \Sigma) = \gamma_m + \sum_{n=1}^{\infty} \Sigma^n \gamma_{(n)}$$

For the
$$\Sigma^{\circ}$$
 - term, we get:
 $\frac{d}{d\alpha_s} Z_{mTiD}(-2\alpha_s) + y_m = 0$
 $-\delta y_m = 2\alpha_s \frac{dZ_{mTiD}}{d\alpha_s}$ "magic relation"